
Page 1 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Running board Seitentritt Marchepied 

Running board does not interfere with the jack and its use. 

Dieser Seitentritt beinträchtig nicht die Benutzung des 

Wagenhebers 



Page 2 of 13 

 

 

No. QTY Name No. QTY Name L mark position R mark position 

○1  1 
 

Running board（L） 

○2  1 

 

 

Running board （R）   

 

 

No. QTY Name No. QTY Name No. QTY Name 

○3  1 

 

Front Bracket（L） 

○4  1 
 

Front Bracket（R） 

○5  1 

 

Rear Bracket（L） 

○6  1 

 

Rear Bracket（R） 

○7   1 

 

Front Bracket 4X4（L） 

○8  2 

 

Hex bolt plate (M8-25) 

○9  2 

 

Hex bolt plate (M12-35) 

○10  8 
 

Hexagon socket button head 

screws (M6-16) 

○11  8 

 

Flat washer D6 

Running board: 8201700147 

Mounting kits: 8201715475 



Page 3 of 13 

No. QTY Name No. QTY Name No. QTY Name 

○12  8 

 

Spring washer D6 

○13  2 

 

Flange nut M12 

○14  10 

 

Flange nut M8 

○15  10 

 

Flat washer D8 

○16  2 

 

Flat washer D12 

○17  2 

 

 PVC clamping piece Φ8 

○18  2 

 

 PVC clamping piece Φ12 

      

 

 

 



Page 4 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Installation picture 



Page 5 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Installation picture 



Page 6 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Installation Steps 

7 

5 6 

2 3 

4 5 6 

1 



Page 7 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Φ8mm 

8 10 8 

11 12 

8201700147 

8201715475 

9 

10 

7 



Page 8 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9 13 
14 15 

16 17 18

13mm  

24Nm 
4mm  

11Nm 

8201700147 

8201715475 



Page 9 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

22 

19 20 21

18mm  

70Nm 4mm  

11Nm 



Page 10 of 13 

             

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

23 24 
25 

26 27 28 

29 
30 

13mm  

24Nm 

Pay attention !  



Page 11 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2524

36

7 

35 36 

31 32 33 

34 35



Page 12 of 13 

 

 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

37 38
39

40

13mm  

24Nm 
4mm  

11Nm 



Page 13 of 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8201700147 

8201715475 

KBA 31546 

Type SR e2*2001/116*0323*43 

Type SR e2*2007/46*0013*12 


